SplashLearn

Model the Scenario

Create a model using dots of different colors and write a multiplication
expression for each part.

Emily has 3 fruit baskets in her kitchen. There are 2 green apples and 4 red applesin
each basket.
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Total number of green apples: X

Total number of red apples: X

Jake buys 2 packets of candies. There are 5 chocolate candies and 3 fruity candies in
each packet.

Model:
Total number of chocolate candies : X
Total number of fruity candies : X

Tim has 5 packets of cookies. There are 2 choco chip cookies and 3 fruit & nut cookies
in each packet.

Model:

Total number of fruit & nut cookies : X

Total number of choco chip cookies : X




